E B |MAZ2EFEFHR K 4 RRM2A L SvTaL L ISSG|NR|{E#
IN3| 8 | #BH BRZE | 10/4| 40.25 16.97 38.11 TAD | 9
N9 | HEH BEHE | 10/4| 4515 17.22 39.02 - |6
NG| 10 | HE | 3/7| 3361 15.16 33.88 TAD | 8
= NS 10 | B BX |10/4| 37.90 15.98 35.27 - |7
N5 11 | Bl &K [4/11] (36.53) 16.03 36.34 - | 4
NG| 11 | KEIL FERS [10/4| 33.95 14.09 31.75 TAD | 7
50mFR 1| 12 [l FEF|10/4| 4056 16.91 38.64 - |1
hi1| 12 | /L FF | 7/25| 31.94 13.81 31.67 - |7
= 1| 12 [ 4£{8 FF |10/4| 32.30 14.03 31.44 - |8
h2| 13 |BTEE W7E|10/4| 30.70 13.50 30.05 - |8
1| 12 | @F& HF [10/4] 3215 13.69 30.08 - |7
B | h2| 13 |WMK WEA|[9/13]| 28.05 12.59 28.09 - | 8
h3| 14 | BERE BE [8/29] 2809 12.75 2750 - |7
INS| 10 | KB OLUA (4711 (47.11) 21.32 47.34 - 5
S| 11 | FI #@F | 1074 52.28 20.78 47.54 - |3
NG| 11 | #EFH EIETH|10/4| 43.35 19.43 42.94 TAD | 6
SRS M4l 9 | #EH [Eak |2/21| (53.39) 24.04 54.14 - |2
NG| 10 | HRE FEFH | 9/13| 4415 18.83 42.80 TAD | 7
Z|(h1| 12 | LR {6A |9/13| 4063 17.81 39.69 - |7
N4 9 [ LUIR FE |4/11| (4259) 18.73 42.90 - |5
NS | 10 | hHE HFE | 9/12| 4053 16.91 38.03 - 6
50mFLY | &
6| 11 | B Bk (1074 37.98 15.44 34.12 TAC | 8
NG| 11 |ILiE FIKRFE|10/4| 36.67 15.76 36.52 TAD | 6
| /6| 11 | BEE 53 (9/12] 3758 15.97 35.85 TAC | 8
N3 8 | 1BHE BRZE |4/11| (45.49) 20.11 44.41 TAD | 8
B /5| 10 | EX &G |[10/4| 36.80 15.83 34.76 JBA | 10 | Joc
. NG| 11 | B &K (411 (42.09) 20.35 4478 - | -
1| 12 | {218 £33 [4/11] (33.80) 15.21 34.79 - | 8
% th2| 13 | 5kK5F & (11/28) 31.72 14.14 31.46 - 19
th1| 12 |#E)II RAER| 3/7 | 3295 14.36 32.09 - 19
- 1| 12 | ¥AR sk#1 (1074 3837 16.83 36.76 - | 5
3| 14 | kE £5%s [11/29) 20834 | 3069 | 1.0389 | 1.3741 | 21024 | JMA| 9
200mFR - 3| 14 | 8@ D | 7/4| 22082 | 3270 | 1.0858 | 14465 | 21986 | - | 7
B (3| 14| BR #£ |9/13| 21305 | 2983 | 10290 | 13647 | 20779 | - | 8
200mBR | %2 | &2| 16 | ILiE 20 |9/13| 2.39.40 | 36.57 11722 | 15819 | 23957 | JBA| 9
N Z | Z1| 16 | /NE FE |4/11((2.3180)| 37.08 | 1.19.14 | 20252 | 24500 | - | 4
B | 53| 17 | % X4 |9/12| 20886 | 2978 | 10263 | 1.3578 | 20829 | JBA| 9




